

$$a_1 = 10$$

①

$$a_4 = 91 \rightarrow a_1 + 3d = 91 \rightarrow 10 + 3d = 91 \rightarrow 3d = 81 \rightarrow d = 27$$

$$a_n = 10 + (n-1) \times 27 \rightarrow 10 + (n-1) \times 27 = 201 \rightarrow n-1 = 7 \rightarrow n = 8$$

✓

$$a_1 = 101$$

$$a_{17} = 997$$

②

$$\begin{array}{r} 997 \\ -101 \\ \hline 896 \end{array}$$

$$d = 896$$

✓

$$a_{n+1} + a_{n+2} + a_{n+3} = -9n + 11 \xrightarrow{n=1} a_2 + a_3 + a_4 = 9$$

③

$$a + d + a + 2d + a + 3d = 9 \rightarrow 3a + 6d = 9 \rightarrow a + 2d = 3 \xrightarrow{\times -1} a - 2d = -3$$

$$n=2 \rightarrow a_2 + a_4 + a_6 = 0 \rightarrow a + d + a + 3d + a + 5d = 0 \rightarrow 3a + 9d = 0 \rightarrow a + 3d = 0$$

$$\left. \begin{array}{l} -a - 2d = -3 \\ a + 3d = 0 \end{array} \right\} \rightarrow d = -1 \rightarrow a = 9$$

✓

$$a_{14} = 9 + (14-1) \times (-1) = -12$$

$$a_1 = 9 + (1-1) \times (-1) = 9$$

$$a_{14} + a_1 = -3$$

$$P^x = P^{x-1} + P^x - P^x \Rightarrow P = P + P - P^x \rightarrow P + P - P^x - P^x \times P^x = 0$$

④

$$\left. \begin{array}{l} P^x - P^x \times P^x - P^x = 0 \\ P^x - P^x \times P^x - P^x = 0 \end{array} \right\} \rightarrow P^x - P^x - P^x = 0 \rightarrow (P-1)(P+1) = 0$$

$$P = 1 \rightarrow P^x = 1^x \rightarrow x = 2$$

$$a_2 = P - 1 = 1 - 1 = 0$$

$$a_3 = P = 1$$

$$a_{13} = P - P = 1 - 1 = 0$$

$$0 + 1 + 0 = 1$$

✓

$$\begin{matrix} \sim a+11d & \sim a+9d \\ a_{11} - a_9 = \omega \rightarrow a+11d - a-9d = \omega \rightarrow 2d = \omega \Rightarrow d = \frac{\omega}{2} \quad \textcircled{\omega} \end{matrix}$$

$$a_9 + a_{11} = 2\omega \rightarrow a+9d + a+11d = 2\omega \rightarrow 2a + 20d = 2\omega \rightarrow 2(a+10d) = 2\omega$$

$$a+10d = \frac{2\omega}{2} \xrightarrow{d=\frac{\omega}{2}} a = -1\frac{\omega}{2}$$

$$a_{11} = -1\frac{\omega}{2} + 10 \times \frac{\omega}{2} \Rightarrow 9\frac{\omega}{2}$$

$$\frac{a_1 + a_2 + a_3 + a_4 + a_5}{a_9 + a_{10} + a_{11} + a_{12} + a_{13}} = \frac{1}{3} \rightarrow \frac{a_2}{a_1} = ?$$

$$S_n = \frac{n}{2} (2a + (n-1)d)$$

$$S_{\omega} = \frac{\omega}{2} (2a + \omega d) = \omega(a + \frac{\omega}{2}d) = \omega a + \frac{\omega^2}{2}d$$

$$S_{10} = \frac{10}{2} (2a + 9d) = 10a + 45d$$

$$S_{10} - S_{\omega} = S_{10} \times \frac{1}{3} \Rightarrow 10a + 45d - \omega a - \frac{\omega^2}{2}d = \frac{\omega}{3}a + \frac{\omega^2}{6}d = \omega(a + \frac{\omega}{6}d)$$

$$\omega(a + \frac{\omega}{6}d) = \frac{1}{3} \times \omega(a + \frac{\omega}{6}d) \rightarrow a + \frac{\omega}{6}d = \frac{1}{3}(a + \frac{\omega}{6}d)$$

$$2a + \frac{\omega}{3}d = a + \frac{\omega}{6}d \rightarrow d = \frac{2a}{\omega} \begin{cases} a_1 = a \\ a_2 = a + d \Rightarrow a + \frac{2a}{\omega} = \frac{3a}{\omega} \end{cases}$$

$$\frac{a_2}{a_1} = \frac{\frac{3a}{\omega}}{a} = \frac{3}{\omega}$$

$$t_n = t_{n-3} + \frac{1}{\omega} \quad \frac{t_9^2 - t_{\omega}^2}{t_v}$$

$$t_n - t_{n-3} = \frac{1}{\omega} \rightarrow \frac{1}{\omega}d = \frac{1}{\omega} \rightarrow d = 1$$

$$t_9^2 - t_{\omega}^2 = (t_9 + t_{\omega})(t_9 - t_{\omega})$$

$$t_9 - t_{\omega} = (9 - \omega)d = \frac{1}{\omega}d = \frac{1}{\omega}$$

$$t_9 + t_{\omega} = [a + 8d] + [a + \frac{1}{\omega}d] = 2a + \frac{8\omega + 1}{\omega}d$$

$$\rightarrow t_9^2 - t_{\omega}^2 = \frac{1}{\omega} \times (2a + \frac{8\omega + 1}{\omega}d) = \frac{1}{\omega} \times \frac{2a\omega + 8\omega + 1}{\omega}d \rightarrow \frac{t_9^2 - t_{\omega}^2}{t_v} = \frac{1}{\omega}$$

$$d = \frac{2 + \sqrt{3} - 2(1 - 4\sqrt{3})}{12 + 1} = \frac{2 + \sqrt{3} - 2 + 12\sqrt{3}}{13} = \frac{13\sqrt{3}}{13} = \sqrt{3} = d \quad (8)$$

$$d = \frac{32 - 2}{12 - 3 + 1} = \frac{30}{10} = 3 \quad (9)$$

تعداد عبارت ها = $12 - 3 + 2 = 12 - 1$
سجده آخر

$$a_{n+1} = 2 + nd = 11 \rightarrow 2 + n \times \frac{10}{12 - 1} = 11 \rightarrow \frac{10n}{12 - 1} = 9$$

$$10n = 12n - 9 \rightarrow n = 3$$

$$a_n + a_{n+2} = a_3 + a_{11} \quad \left| \frac{a_n}{a_3} = 3 \right| \quad a_{x=0} \rightarrow x = ? \quad (10)$$

$$[a + (n-1)d] + [a + (n+1)d] = [a + 2d] + [a + 10d]$$

$$2a + (2n+2)d = 2a + 12d \rightarrow 2n+2 = 12 \rightarrow n = 5$$

$$a_1 = 3a_5 \rightarrow a + 0d = 3(a + 4d) \rightarrow 2d + 2a = 0 \rightarrow d = -a$$

$$2(a + 4d) \rightarrow d + a = 0$$

$$a_{x=0} \rightarrow a + (x-1)d = 0 \rightarrow -d + (x-1)d = 0 \rightarrow (x-2)d = 0 \rightarrow x = 2$$